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Kreisflä che – zusämmengesetzte Figuren 

Lösungsblatt 

 

Berechne jeweils den Flächeninhalt der folgenden Figuren. 

              
 

𝐴1 = 𝑟1
2 ∙ 𝜋 = 42 ∙ 𝜋 = 16 ∙ 𝜋 

 
𝐴2 = 𝑟2

2 ∙ 𝜋 = 42 ∙ 𝜋 = 16 ∙ 𝜋 
 

𝐴 = 𝐴1 − 2 ∙
𝐴2

4
= 

 

= 16 ∙ 𝜋 − 2 ∙
16 ∙ 𝜋

4
= 

 
= 16 ∙ 𝜋 − 8 ∙ 𝜋 = 8 ∙ 𝜋

= 𝟐𝟓, 𝟏 𝒄𝒎² 

 

𝐴1 = 𝑟1
2 ∙ 𝜋 = 42 ∙ 𝜋 = 16 ∙ 𝜋 

 
𝐴2 = 𝑟2

2 ∙ 𝜋 = 22 ∙ 𝜋 = 4 ∙ 𝜋 
 
𝐴 = 𝐴1 − 2 ∙ 𝐴2 = 
 
= 16 ∙ 𝜋 − 2 ∙ 4 ∙ 𝜋 = 
 
= 8 ∙ 𝜋 = 𝟐𝟓, 𝟏 𝒄𝒎² 

 

𝐴1 = 𝑟1
2 ∙ 𝜋 = 62 ∙ 𝜋 = 36 ∙ 𝜋 

 

𝐴 =
3

4
∙ 𝐴1 =

3

4
∙ 36 ∙ 𝜋 = 

 
= 27 ∙ 𝜋 = 𝟖𝟒, 𝟖 𝒄𝒎² 
 
 

 

   
 
𝐴1 = 𝑎2 = 62 = 36 
 

𝐴2 = 𝑟2 ∙ 𝜋 = 32 ∙ 𝜋 = 9 ∙ 𝜋 
 

𝐴 = 𝐴1 + 4 ∙
𝐴2

2
= 

 

= 36 + 4 ∙
9 ∙ 𝜋

2
= 36 + 18 ∙ 𝜋 = 

 
= 36 + 56,5 = 𝟗𝟐, 𝟓 𝒄𝒎² 

 
𝐴1 = 𝑟1

2 ∙ 𝜋 = 42 ∙ 𝜋 = 16 ∙ 𝜋 
 

𝐴2 = 𝑟2
2 ∙ 𝜋 = 22 ∙ 𝜋 = 4 ∙ 𝜋 

 

𝐴 =
𝐴1

2
− 𝐴2 =

16 ∙ 𝜋

2
− 4 ∙ 𝜋 = 

 
= 8 ∙ 𝜋 − 4 ∙ 𝜋 = 4 ∙ 𝜋 = 
 
= 𝟏𝟐, 𝟔 𝒄𝒎² 

 
𝐴1 = 𝑟1

2 ∙ 𝜋 = 42 ∙ 𝜋 = 16 ∙ 𝜋 
 

𝐴2 = 𝑟2
2 ∙ 𝜋 = 22 ∙ 𝜋 = 4 ∙ 𝜋 

 

𝐴 =
𝐴1

2
− 2 ∙

𝐴2

2
= 

 

=
16 ∙ 𝜋

2
− 2 ∙

4 ∙ 𝜋

2
= 

 
= 8 ∙ 𝜋 − 4 ∙ 𝜋 = 𝟏𝟐, 𝟔 𝒄𝒎² 
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